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PLEASE READ THIS PAGE CAREFULLY.

Note: Candidate should remove the sticker seal and open this
Booklet only after annourcement by centre superintendent and
should thereafter check and ensure thal this Booklet contains all
the 32 pages and Code [J-2501] Series-D is printed at the bottom
of each and every page. If you find any defecl, variation, torn or
unprinted page, please have it replaced at once before you start

answering.

IMPORTANT INSTRUCTIONS :

1. The Answer-sheet.of a candidate who does not write his
Roll No., or. writes ansincorrect Roll No. on the title page of
the Booklet and in the space provided on the Answer-sheet
willigither beevaluated nor his result be declared.

2. “The.paper contains 150 questions and each question
carries one mark.

3(. Attempt all questions as there will be no Negative Marking.
4. The questions are of objective type. Here is an example.| _
Question No. : 8 Kashi Vishwanath Mandir is situated in
which city?
(A) Ayodhya (8) Mathura
(C) Varanasi (D)  Haridwar
The correct answer of this question is Varanasi. You
will therefore darken the Column (C) circle against the
Question No. 8 with ball point pen in the answer sheet as
shown below .
Q.No. ANSWERS

s | 0 ® @@

5. Each question has only one correct answer. If you give
more than one answer, it will be considered wreng and it will
not be evaluated. Changing, Cutting, Overwriting and
Erasing of an answer will be treated as wrong answer.

6. Assume English, version correct in case of any
discrepancy between English and Hindi version.

7. The space for rough work wherever provided may be
utilized by the candidate. You are not allowed to use any
portion of the Answer-sheet for rough work.

8. Do not mutilate this Booklet in any manner. Serious
damage/mutilation may entail disqualification.

9. Do not leave your seat until the Answer-sheets have been
follectﬁ’d at the close of the examination. Candidate will not
eave the examination room til stipulated time is over and
only after he has handed over the Answer-sheet to the staff

of duty.
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1.

Culture biased test

(A)  Verbal test

(B)  Standardized psychological test

(C) Non verbal test

(D)  All of the above

Example of performance test

(A)  Koh's block design test

(B) S.Jalota's mental ability test

(C) Raven's progressive matrices

(D) Wechsler' adult intelligence
scale

I Q range in moderate level of

intellectual deﬁciency.

(A) 55to70
(B) 35to55
(C) 20to35

(D) Below 20
The concept of Emotional intelligence
was first introduced by .

(A) Alfred Binet

" (B) Arthur Jensen

(C) Salovey and Mayer
(D) J.P. Guilford
Analytical
develloped < TS
(A) Carl Jung

(B) Erik Erikson
(C) Erich Fromm
(D) Karen Horney

psychology was
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‘Principles of Psychology' was

published ) G-
(A) Wilhelm Wudnt

(B) William James
(C) dJohn Watson
(D) dJohn Dewey

National institute of mental health

and neurosciences is established at

Bangalorein

A) 1954
®) 1879
©) 1974
D) 1989

The consistency of scores obtained
by an individual on the same test
on two different occasions.

(A)  Objectivity

(B) Validity

(C) - Reliability

(D) Norms
The____takes place automatically
without conscious decision of the
brain
(A) Somatic Nervous system
(B) Parasympathetic Nervous
system
(C) Nerve impulse
(D) Reflex Action.
p.T.0.
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11.

12,

13.

According to Piaget, in which
stage of childhood, the child gains
the ability to mentally represent
an object that is not physically
Present.

(A)  Sensorimotor

(B)  Preoperational

(C)  Concrete operational

(D)  Formal operational
Vygotsky's theory of cognitive
development is\also known as S
theory,

(A) " Socio cultural

(B} Biological

(C)  Socio emotional

(D) None of these

include physical traits

such as height, weight, eye, skin
colour etc.

(A) Development

(B)  Growth

(C)  Genotype

(D)  Phenotype

Who developed the multimode
theory of attention?

(A)  Broadbent

(B) Triesman

(C)  Johnston and Heing
(D)  Kohlberg
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14.

15.

16.

17.

The learning situation in classical
conditioning is an association
between two stimulus (bell and

food). In this Bell is .

(A) Conditioned Stimulus

(B) Conditioned Response

(C) Unconditioned Stimulus

(D) Unconditioned Response
Who gave the concept of Latent
learning?

(A) Bandura

(B)" . Kohler
(Cy Skinner
(D) Tolman

Fitts presented phases of skill

acquisition.
Aa 1
B) 2
) 3
(D) 4

Large number of Learning disabled
children have .
(A) Phobia
(B)  Illusion
(C) Dyslexia
(D) Autism
P T O
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20.

21.

Duration of Short Term Memory.
(A) Less than one second

(B) Less than 30 second

(C)  Less than 60 second

(D)  Upto a life time

Memories relating to our personal

life experiences constitute the __

memory.

(A)  Declarative

(B) Episodic

(C)  Procedural

(D) . ( Semantic

—____saw memory as a constructive
and not a reproductive process.

(A)  Ebbinghaus

(B)  Shallice

(C)  Craik and Lockhart

(D) Bartlett

People who go to sleep after memo
-rising should ____ as compared to
those who remain awake.

(A)  Forget more

(B)  Forget less

(C)  Total forget

(D)  None of these

el

(3 Scanned with OKEN Scanner



22.

23.

24.

23

=i s ® U PQRST fafy =

foera feam fan
(K) 9" e e
(B) %% TF kel
(c) wefwru w it
(D) ThigHh e

‘e F WEA E @ R, T
FfE & & TT T THA Bl T
1 TIET B

p) TS qeh

(B TR qehl

ccccc

J-2501-Series-D

22,

23.

24.

25.

Who developed PQRST method to
enhance memory?

(A) Thomas and Robinson

(B) Craik and Lockhart

(C)  Atkinson and Shiffrin

(D) Frederick Bartlett.

'All the glass articles are breakable,

this is a glass jug so it can break'.

This is an example of

(A) Deductive reasoning

(B) Inductive reasoning

(C) ProblemSolving

(D) Nore of these

Strategies not helpful in enhancing

creative thinking.

(A)  Use of Osborn's Brainstorming
technique.

(B) Become more aware and
sensitive to feelings, sights,
sounds etc around you

(C)  Use of convergent thinking

(D) Never accept the first idea
for solution.

According to behaviourists, language

development follow principles.

(A) Operant condioning
(B) Heredital

(C) Memory
(D) Forgetting

E.J. O.
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27.
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29,

30.

. P 2 s d
The term ‘Motivation 18 derive

from Latin word___.

(A)  Movere
(B) Mover
(C) Motive

(D)  None of these
In the bottom of Maslow's hlileraI'ChY

- of needs.

(A)  Self actualisation needs
(B)  Physiological needs -
(C)  Belongingness needs:
(D)  Safety needs :
The
hypothesis was proposed by-
(A), ', Abraham H. Maslow
(B)  James and Lange

(C)  David McClelland

(D) Dollard and Miller
Strategies useful

frustration® - aggression

in  managing
examination anxiety.

(A)  Prepare well

(B)  Relaxation

(C)  Exercise |

(D)  All of the above

Mental age of 10 year olq boy is 12
years. Find his 1 Q,

A) 84

(B) 100

(C) 110 \o/ﬂ"f
(D) 120 ,\q?,
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ENGLISH

Direction Q. No. 31 to Q. No. 85: | Direction Q No. 36 to Q No. 40 : choose
Fill in the blanks with appropriate word | an option, which can be substituted for a

bR ien segtences, given word/sentence/phrase out of given
31. "They ........ all dead", he muttered .
......... himself. i
G were ... al 36. Wild people in primitive stage
(BY are ... of (A) Monsters
(C) were ......... for (B) Savages
(D) are ... to (Oé Omnipresent
32. The hunter ......... ... taken ............ (D) Omnipotent
surprise. 37. Spoken in a low tone
(&) had . at ( AJ/ Muttered
(B) |, WaB s for .
#)  was ... by ®) (CIO¥
D) S e i (G) " “Nuisance
33.  One morning when the geese had (DY Applaud
............ out ......... search for food. | 88 Land with no vegetation
(A) - went ;e on (A) Island
(B) gone ... in (B) Barren
(© left ... at (C) Pastures
(ﬁ) lt.eft . -i_nto (]J) Grassland
34. A creative acthty ...... be followed 59.  Injury by blow to body
....... a presentation before the class.
(A) Ought ...cccvvnenene then (A)  Bruise
B 11,1 OISR, § (B)  Remedy
(Q could ..o e DL (90 Panacea
(D) should .....cccocueees by (D) Injelititis
35. Then he ............ some sweet syrup | 40.  Extremely interested
ceseeeenn it and serves it. (A). Interactive
(A)  tastes ..o eaten B) Dabcasdtenal
(B)  POUXS ieveceseacerarese and
(C) tastes I L (Q{ Felicitated
(]?) POULS .oouosssitd ... OVET (D)  Fascinated
J-2501-Series-D 9 P.T.O.
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Direction Q No. 41 to Q No. 45 : Given

statement-Rina won the race.

the

according to the given tense and form.

Change above given sentence

41. 'Simple Past Tense, in the
‘Interrogative form'
(AY Has Rina won the race?
(B)
(©)
(D)
Past Perfect continuous Tense
~(A)
(ﬁ’f * Rina had won the race.

(C)  Rina had been winning the

Does Rina win the race?
Did Rina won the race?
Did Rina win the race?

42.

Rina has won the race.

race.
(D)  Rina had being won thle race.
3. Simple Present Tense, in /the
Interrogative form.
(A) Has Rina Won the race?
(B)  Will Rinawin the race?
(7 Doés Rina wins the race?
(D)  Does Rina win the race?
4. Future Perfect Tense
(A)  Rina will win the race.
(B)  Rina will have won the race.
(C)  Rina will have been winning
the race.
(P7  Rina will be winning the
race.
;g—;..series-D

10

45. Past continuous Tense, 11 the

Interrogative form

(A) Has Rina won the race?

(B) Was Rina winning the race?
(C) Has Rina been winning the
race? '

(DY Was Rina being winning the

race?
Direction Q No. 46 to Q. No. 50 A word
is underlined in next five statements.
Identify its parts of speech. _
46.  "Then listen Carefully" replied the _

&

wise bird.
K Verb
(B) Adjective
(C)  Conjunction
(D)  Adverb
47.  As they flew into the tree.
(A)  Preposition
(BY' Conjunction
(C) Adjective
(D) Interjection |
48. Happiness was hiding in' the last
tear.
(A) Abstract Noun
(B) Common Noun
(C) Verb
(9{ Adjective
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49. I was stuck with utmost fear and
astonishment.
(A) Noun
(B) Verb
(C) Adjective
@Y Adverb

50.  The creature picked me up between
his thumb and forefinger.

(y/ Conjunction

(B) Interjection

(C) Adverb

(D) Preposition
Direction Q. No. 51 to Q. No. 55.: Select
the correctly spelt word.
51. (A) Comette

(B) Committee

(C) Committe
(9& Commety
52. (A) Spontanity

( 'Spontin.ity

B)
(C) , Spontenity
(1}/ Spontaneity

53. 9&/ Orphanage ‘

(B) Orfanage
(C) Orphnage
(D) Orphenage
54. (A) Ingridiant
(B) Ingradiant
(). Ingredient
(D) Ingridient
J-2501-Series-D

1"

55. (A) Schdeul
(B) Shedule
(C) Shadule
(DY Schedule

Direction Q. No. 56 to Q. No. 60:
Choose the word apposite in meaning to
the words printed in CAPITAL
56. ORDINARY

(A) Eminent

(B) Auspicious

(C) Prosperous

(D)/ Lucid
57. TARDINESS

(A), Punctuality

(B)» ~ Fatigueless

(C)YY Tidiness

(D) Carelessness
58. TRIUMPHANTLY

(A) Courageously

(B) Foolishly

(€Y Defeatedly

(D)  Successfully

59. COURAGE
(A) Knight
(]}J Colonel

(C) Haughtiness
(D) Timidity

'60. CEASE

(A) Perish
(B) Persevere
(C)  Pardon

(D Penance

A AL
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TTfoTe MATHEMATICS

9. AR 8a =352 272, M awHl HH | O If 8g = 352 277, then find a

A ' A) 62 V"ﬁ/
(A) 62 ¥
(B) 64 (’f;c
(B) 64 0 /5
© 8 Yol
C) 8

(D) 16

@y 16

92.  Find the value of (2)° + (3)° + (-5)°
92 2P+ (3P + (-5 WH FW HRTY

(A) 0 o |
B B (B) -90
© 1 (€).. 1
D) 30 .

93. T IiwEw (160-170) F1 1l Fofm 93. The class mark of class interval
Censsmssiinisssnsie - (160-170)is |
A) 170 (&) 170
(Bx 165 ' | (B) 165
(C) 330 | (©) 330

- (D) 160 (D) 160 , e

94. F’WI’QF 1 |t 25 A qen ?ﬂ'é:ré 70 WO | 94.  Find the area of rectan\gle whose
9 ™G 1 &A% TG wifs) /Je/gth is Im 25cm and width is
(/ 87 =2 - _ 70cm
(B) 875 Gt 4)  87Tm?
(€ 08753t Ht (B)  87.5 cm?
D) 8757 . (C)  0.875 m?

| | (D)  8.75 m?
J-2501-Series-D 16
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95.

96.

97.

T H0 2w A

A)  200°
(Br 300°
(C)  360°
(D) 180°
T B 5T & 9 3R T e

T B o ® RE w T e
wH A 18 e @ ¥ sy )
12 firie T ¥1 WA e B g
I T g o T & v w
¥ FW ¢ R TH @ R F 5w
3 o fF wmE W’ W i
o R fied?

(A) 36 Tie
(B) 18 fie
9)/8 e
(D) =% Het & e

7fE fgumd 9gus (k— 1) x2 + kx +1
T Y 3%, A kHAA B

4
(A) 3
-4
(B) 3
2
/l‘ej/ 3
-2
(D) 3

J-2501-Series-D
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95.

96.

97.

%of complete angle equals to ?

(4)  200°
(B) 300°
() 360°
(D) 180°

There is a circular path around a
sports field, Priya takes 18 minutes
to drive one round of the field.
Harish takes 12 minutes. Suppose
they start at the same point and at
the same time and 'go in the same
direction, after how much time they

will meet at starting point?

(A) 36 minutes
/LB’)/ 18 minutes
(C) 8 minutes
| (D) They will not meet

If one of the zeroes of the quadratic
polynomial (k — 1) x? + kx +1 is -3,
then the value of k is

By =

3
-4
® 3

o

-2
(D) v

PT.O.
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98. AR x+2y=75F x A yB Tl | 98, Irx 4 2y = 75, then possible values
RIS

of x and y can be

(A) x=35y=15 (A) x=35’y=15

B x=25y=25 B) x=25y=25

(C) x=15,y=20

m X =30, y =25
9. AR o R B WHIEHTo 2x%-3x-6=0

(C) x=15,y=20

D) x=36,y=25

‘e.,'l T ¥ A ___+__'.?' 99. If a and B are, the roots of the
1 equation 2x°-3x—6=0, then 1+— =7
. o ﬁ '
(A)
2 ; d dif
A —
(B) 0 s 1. i 2
v (B) <0
© 1 ke U
3 @ 1
D) > 3
I By .=
00. AR freft-aiy sl ©F aw wrEn m 2

‘ - ~
& @ o g B ®1 Wfaear | 100. A dice is thrown once. Then the

BN s probability of "odd number" will be:
1 :
@ @ 1
B o0 B) 0
i |
of = @ <
3 3
) = =
: D) =
3 ) 3
J-2501-Series-D 18
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101, SBYR p(x) = Tx*— 833 4 By 5 9% | 101. The degree of the polynomial

T B
p(x) = Tx*—3x3+ 5x*+ x — 9 will be :
A4 1
Aa 1
(B4
B) 4
© o
<€ o

(D) W ¥ ¥ w8 77

12
102. gmwwwm:

(D) None of the above.

12.
102. The multiplicative inverse of — is

5
{A), 1 equal to :
(B) -1 @A 1
5
O T4 B -1
12 L

oo QO
- D) 0

103. 3R sin A—cos A = 0, then sin 2A =? (D)
103. Ifsin A—cos A =0, then sin 2A =?

@ 0

% @ 0
B -1

B) -1

© 1 (®)

: 1
1
1 1
q;\/ : D

104. ARG 81 =64, A 31 WM HT | 104. If 8! = 64, what is the value

3 of 3%*1:
(A 27 A) 27
B) 3 B) 3
("9 | © 9
D 1 D) 1
J-2501-Series-D 19 ' P.T.0.
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105, 19t Y@t #1v1 1 - W | 105, One-third of a straight angle is
Bhm;

equal to:
(A)  9o° (A) 90°
(B) 180° (B) 180°
(OJ/ 60° (C) 60°
D) 20° D) 20°
106 0.00112 x 1000 1 T =R gy 106. 0.00112 x 1000 is equal to :
(A) 0.112 (A)  0.112
B) 1.12 | (B) 1.12
©) 112 © 112
Oy 112 (D)= "11.2
107, & wm = wfw, ofs A p. 971 yom | A0 “The n® term of an A.P. having first
IS =3, 9@ 3@ = d, @t a=_ g\ term 'a' and common difference 'q'
+(n-1)d isa, = +(n-1)d, fill in the
(A) b i
® o (&) b b %
A ® ay |
O o (C) a
D) n

108. WA 1331 &1 =gt g |
108.  The cube root of 1331 is equal to :

A4 121

A 121
B 11

B) 11
© 33

(C) 33
D) 111

D) 111

J-2501-Series-D 20
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109 2 . ,
I frdt w5 T 3¢, | 109, If the dimensions of a cuboid are

4em IR
. wlg:;:[]? g THFT Ity 3cm, :4cm and 10cm, then its surface
- area is
(A) 82 cm?
= (A) 82cem?
(B) 123 cm?
(B) 123 cm?
(C) 164 cm?
1 2
> o © 1o
110. ¥MAF 0.65 = =i} e o (D) 216 cm?
el 110. Convert decimal fraction 0.65 to
(A) 605% percentage.
(B) 650% (A) 605%
65% (B) 650%
D) ST T H FE T (C) 4, 65%

Ik o Hﬂﬁmﬁﬁﬁ?ﬁﬁwﬁ (D) None of the above
& FIV HT WY SR/ 2

111. The measure of each exterior angle

(A) 36° of a regular polygon of 5 sides is
(B) 172° equal to
©) 90° (A) 36°
(D 5° i
) | © 90°
112. & MR 3 TH 95 Hl T 500 H D)  45°
ol AR R 450 F A SR AW | ht an item for ¥ 500
4 rader bought an
e 39 g item for T 5
and sold it for ¥ 450. What is his
(A) 100% loss%
B) 10% (A) 100%
(C) 90% (B) 10%
(D/ iz (C) 90%
| _ D) 1%
J-2501-Series-D 21 A T-0,
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13. @ wusior finm o wof @t @6%
2{)cm§3ﬂTWHﬁTﬁaﬁ1§ e
2, T W ) o w87
(A) 8cm
B) 12¢m
© 16em
9/20 cm
114. 033 . =t L &y § w=fw
q
A 38
100
() 10
5
© E
(D =
3
I15. 4R a =631 b=17, HCF (a, b)
x LCM (a, b) &1 WM @ HIFT :
(A) 60
(B) 102
V 617
(D) 96
116. TF WAhW B & A q o
THIM oo, B 2
(A) = HY
@
(C) 3Ifys w0
(D) I | 9 #é TRl

J-2501-Series-D
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113.

114.

115¢

116.

‘In a right angled triangle, the

length of the hypotenuse is 20 ¢,
and the length of one side is 19 cm,
what is the length of the other side?

(A) 8cm
(B) 12cm
(C) 16cm
(D) 20cm i
Convert 0.33 ............ into 2 form
@ 3B :
100
' 10
B) —
3
C 3
© 10
on L1
3

Ifa =6 and b = 17, then evaluate
HCF (a,b)x LCM (a, b) :

(A) 60
(B) 102
(C) 617
(D) -96

In aright angled triangle, the other

two angles are always

(A)  acute

(B) right

(C)  obtuse

(D)  None of the above
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(7. TF TF .o I’Mpfa B
(A T3-emamh
(B) Tg-smard
(C),~ 2R3t
(D)  TH-3EAHH

118.

(A) 6
® 1
el
D) 5
119. 3,2,5,6,4,3,4,5,4 % 9 8:
@ 3
B) 4
(cy/
D) b5
120. 4§ 76 1 7:5:3:47% A H

4 SN Al gad el 9 g

(A) 12
B) 20
(C) 16
(D) ~10

J-2501-Series-D 23

117.

118,

119.

120.

Cuboid is a _ shape

(A) 3—dimensional

(B) 2-dimensional

(C) 4—dimensional

(D) 1—dimensi0ﬁa1

How many natural numbers lie
between 32'and 4%?

(A), .6

B) 1

€ 3 ;
™ 5

The mode of 3, 2, 5, 6, 4, 3,4, 5,41s

A) 3
(B) 4
) 2
D) 5

If 76 is divided into the ratio of
7 :5:3:4, then the smallest part
will be

A 12
(B) . 20
© 16 S
(D) 10

P.J-0.
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[ {1 3T EVS GENERAL KNOWLEDGE & EVS
121. 9Ra § $1-4 €9 H YO 3O | 121, From which Island in India the

2- ' coral originated?
AY” erm (A) Andaman
(B) wEgEy (B) Lakshadweep
(C) fepER (C)  Nicobar
(D) T ¥ =g e (D) None of these
122. Frafafas § 9 $9- W Tiged) | 122. Which of the following is not a
F Hermsd T T 27 tributary of Godavari?
(A) A (A)  Manjira
(B) gwm ! () Dudhganga
f Tt ' (C) . Indravati
(D) =T (D) Wenganga -
123, ¥ ¥ FR-9 wwee a3 123. Which of the following is a Salt
w5 Lake?

(A) W

(A) Sambhar
. o B) W

ullar
@ =
1 (C) Dal

(D) TifeR |rR

(D) Govind Sagar
124. 30 K BRA@ FH H Y TR ¥

e B ‘a7 weia’ @ gEum

124. Who initiated the "Van Mahotsav"
to remind the country of greening

foan? every year?

(A) w7 g (A)  K.M. Munshi

(B) Tl g foreas (B) Rafi Ahmed Kidvai

% SATSite T (C) Jagjivan Ram

(D) TEHAN T &N ' D) Rajkumari Amrit Kags
J-2501-Series-D 24 e
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125, Ffefem F @ B Y e

125. Which one of the following States
ilgai"%[* a0 T 22 does not have Podzolic s0il?
(’j\) ! (A) Odisha
(B) 3IW U= (B) Uttar Pradesh
(C) Teur o (C) Himachal Pradesh
(D) SE-HWHR (D) Jammu-Kashmir .
126. feT=@ F fFY R #) “gest | 126 Which festival of Himachal is also
" HE S 22 - known as "Prithvi Puja"?
(A) X (A) Chataar
B8y JIRIS] (B) Hariyali
(C) Td (C) .Bhart
127. 1&1}:[ AR e R frg R ¥ 127.% Dudhon and Parvatl‘Glaclers are
feora _%7, located in which district.
(A) Chamba
(A) EHI
(B) EKullu
(B)~” T, iy 1
nnaur
) FEER
: : (D) Mandi
(D) Hel " .
. y 128. Where is the famous Chadwick
128. Tiag Jefas 7 Hel W feem €2 O
(A)  HieT (A) Solan
(B) TRveem '(B) Shimla
> u
(C) =T (C) Kull
Oy =T (D) Chamba
J-2501-Series-D 25 P.1-0.
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129. Teuree wy sifueyr Qa1 999 9 | 129, Who was the first Chairman of

THRR) # wuw I1eay I 94? Himachal Pradesh subordinate
(Aw)/’iﬁ_ qeadl services Selection Board (Hamirpur)
(B) 3. "o (A) U.K Malhotra :
(C) =t mem (B) C.K. Malhotra
D) S (©) K.C.Malhotra
130. fram = <9 fEr feaee v | - (D) D.M. Malhotra
% fog foet o frog 22 130. Kiyas Wild life Sanctuary is
(A) = situated in which d'istrict ofiL.P.
(P/ Eaavt (A) Chamba |
@( e | ®) Kullu
(D) fawER (C), ~Mandi
131. %‘qﬁamﬁwm@ﬁ.ﬁ;w (D) Sirmaur
#7 131. What is the height of H.P. above
®) 350 3. R 70004, B level
(B) 300 i 8000 T, (A) 350 mt. to 7000 mt,
(C)  350°WILQ 6000 . (B) 300 mt. to 8000 int,
Dy~ 350 . ¥ 9000 . (©) 350 mt. to 6000 mt.
132. wrerh-foren o @R Beg oY (D) 350 mt. to 9000 mt.
1 91? 132. In which year was the Kalka-
(A) 1903 ‘Shimla railway line built.
@ 1905 | (4) 1903
(C) 1901 (B) 1905
(D) 1806 © 1901 -
(D) 1806 |
J-2501-Series-D 26
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133. T&W # ®H-91 e 77w 53 @) | 183, Which district of H.P. is famous for

% foau wfag @2 salt mines?

(A) Heef A (A)  Kullu

(B) Hel (B) Mandi
(C) faamragR (C) Bilaspur
(D) it (D) Kangra

134. T63. % 9 et o Wl Sl | 134, Which district of H.P. has maximum

AT 27 Industrial Units?
(A)  femem (A)  Shimla
|) T (B) Una

© ©)  Kangre
&f Pt (D) Solan

1385, Who was the first Indian woman
to climb Mount Everest in the

135. Teue™ & AR TR W g dre
el RATE Afeen HiA oi?

Himalaya?
(A) . T SIS (A) Kalpna Chawala
B) IS e (B) Razia Sultan
(C) TS U (C) Bachchendri Pal
(D) g FIAH! (D) Sucheta Kriplani
136. Yoot W Ha™ 3 THURA F-dt 87 | 136. What is the tallest building on
Earth?
;ﬂ( EcReRiEl ‘
. . (A) Burj Khalifa
(B) ¥iuTg e
(B) Shanghai Tower
C) =&
‘ (C) Mardeka
(D) WL aee IR
(D) Lotte World Tower
J-2501-Series-D 27 Pl O.

(3 Scanned with OKEN Scanner



137. & ¥ A fran  fheiis

138.

139,

140..

T ¥?

(A) 1 fisft
(B) 10 et
(C/ 100 Tt
(D) 1000 T

AT AR W e W= am
HA-1 82

(A) Wfaem

®) W

AGY vgen e

D) ¥ ¥ *E &

SYFTE TR T @ g
8 @ § gar?

(A) T R

(B) e qaUTH

Q- == guumm

(D) T YT
ﬁmﬁﬁﬁ?mﬁmﬁ
@ ¥ grafeg 22

of <

(B) SRE. s

(C) T 3N g

(D) 4. &t &=

J-2501-Series-D
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137.

138.

139,

140.

How many millimeters are in a

centimeter?
(A)  1mm
(B) 10 mm
(C) 100 mm

(D) 1000 mm

What is the largest part of the

human brain?

(A)  Cerebellum

(B) Cerebrum

(C)  Medulla Oblongata
(D) [None of these

In which period did the modern

Homosappons humans emerge?
(A)  Lower Palaeolithic

(B)  Middle Falaeolithic

(C)  Upper Palaeolithic

(D)  Chalcolithic

Which of the following archaeologists

is associated with the excavations at

Harappa?

(A)  Daya Ram Sahani
(B)  R.D. Bainerji

(C) S.RR.Rav

(D) B.B.Lal
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141, T8y worm ) v fafy -

/\/ 2500-1800 %. T,

2500-1750 ¥. g,
(5{/ 2900-1700 ¥, g,
(D)  2400-1800 €. g,
142. BUEEILERR I Ry

m/w

AR
(C) Wmag
(D) edeg

143, "womd s Sfe wel | ot
22

Ay BRI IS
(B) HUSHIYMYS
(C) vl

o

144, I ARcEH o § 5 & WA 59
‘9 &l figen?

(A)  em
®) W
foy” fomy
(0) R

J-2501-Series-D
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141.

142.

143.

144.

The

accepted date of Indus

Civilization is -

(A)
(B)
(®)
(D)

2500-1800 B.C.
2500-1750 B.C.
2900-1700 B.C.

2400-1800 B.C.

In which Veda is the famous

"Gayatri Mantra"?

(A)
(B)
(C)

(D)

Rigveda
Yajurveda
Samveda

Atharvaveda

From where was the quote

"Satymev Jayace" taken?

(A)
(B)
(®)
(D)

Chandogya Upnishad
Mundkopnisad
Manusmriti

Rigveda

Which deity got the place of Indra

in the later Vedic period?

(A)
(B)
©)
(D)

Varun
Prajapati
Vishnu

Mahesh

PO,
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145. RN @] ToEHET =41 242 145. What was the capital of Kalashoka?

Ay Sl (A) Vaishali
z TSTTE (B) Rajgrih
(C) rfeeq (C) Patilputra
(D) syafx (D) Avanti

146. <gelETa 91— 146. Delhiwal was-
(A) TReedt =1 = framt (A) aresidence of Delhi
(B) feo=it =1 Us fgasmr * (B). dcoin of Delhi
cf feeh o1 wF e (@ afort of Delhi

(D) TH TR &1 Jt 9% (D) Fleece

147. faen wel o qf g frg | 147 In which district is the Binwa

9 fegq 87 Hydropower project located?
(A) (A) Chamba
(B)~ ﬁ]g-,r (B) Kangra
(C) wel (C) Mandi
(D) T 9 & & (D)  None of these
148. Y-2d B IF A= ‘gaaﬁ F T 148. The surface of the Earth just below
HedE the Earth's crust is called-
(A) <R WS (A)  Outer Core
(B) STaft® HIS (B) Inner Core
(C)—<iaftw Hea (C) Inner Mantle
| (D) < e (D)  Outer Mantle
J-2501-Series-D K ;30 :
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149. R W U guw -

150.

(A) T 9guw
(B) T UgHUT
(G A Hguv
(D) = wguw #

149.

faea qw ‘s wme” fafits w9 | 150,

¥ IR
(A) T gEaae o
(B) ¥Nd =Rl H

(C)/T%WFITI qAqATen |

(D) 3T Hek H

B k]

|

Stone Fly is a pointer -
(A)  Soil Pollation
(B) Water Pollution
(C)  Air Pollution
(D)  Sound Pollution

The famous flower "Brahma Kamal"
grows naturally.

(A) In Nilgiri Hills

(B) Inthe quiet.valley

(C) Inthe Himalaya Range

(D)~ ImAmar Kantak
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